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§1. JIHIMHE PIBHAHHA 3 OQHIEIO 3MIHHOIO

2, dinifine pisnanun 3 00Hicio sminioro

Jliniiinamy pissHEsME € 1) 3x =

Bidnoeios. 1); 2); 6); 7); 8).

6:2) x=4:6)

.l 2; ) x=0; 8) 0x=8.

1) 18 — 16x=-30x - 10; 2 -Tx+2=3x-1; HNID-2x=12+x;
—l6x+ 30x=-10-18; ~Tx—3x=-1-2; —2x—-x=12-10;
14x =-28; ~10x=-3; —3x=12;
x=-2. x=0,3. x=—%;.
Bionogids. —2; Bidnoegios. 0,3; Bionoeios. —%- :

4) 6x—19=-2x-15; 5)0,2x+34=0,6x—2,6; 6) —-Jc+12 -‘lIx 25

5'-2 1".1
6x+2x==15+19; 0,2x—0,6x=-2,6-34; 6 X_Z x==2-12;
7
=4: 0 dx = —6; —=x =-l4;
8x=4; Ax = —6; 12r
x=0,5. x=-24.

Bionoside. 0,5;
1) 10x+7=8x-9;

10x— 8x=-9-7;
2x=-16;
x=-8.

Bidnosids. —8;

3)2,7+19x=2x+ 1,5
1,9x-2x=1,5-2,7;

—0,lx=-12;
=12,
Bionosioe. 12;

1) 4(x—5) = 4x —20;
4x — 20 =4x - 20;
dx — 4x =20+ 20;
0x=0.
Bionogids. By ib-sike 4HCNo;
1) 3(x—-4)=5x-12;
—3x+12=5x-12;
Bx —Sx==12=12;
—8x=-24;

Bionogios. 15;

Bionogion. —24.
2) 20 3x=12x —45;

—3x —2x=-=45-20;

—S5x =-65;

x=13.

Bionogios. 13,

-—+ Lo
4) 1gx +13= Zx+8]-36;

26x +468 =21x +288;
26x —21x =288 — 468;
5x=-180.
x=-36.
Bidnogiods. -36.

2) 2y —8 =4+ 2y
2y-2p=4-+8;
Op=12.
Bidnosgids. KopeHis Hemae,

2)(16x—5)— (3 - 5x)=6;
16x—5-3+5x=6;
lox+5x=6+5+73;
2lx=14;




39.

40.
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x=3.

Bionosioe. 3;

3) 26 —4x = 3x— T(x - 3);

20 —4x=3x-Tx+21;
~4x—3x+Tx=21-26;
Ox =-5;

Bionosids. KopeHis nemae;

1) 4(13 —3x) — 17 = —5x;

52-12x—-17=-53x;
=12x+5x=17-52;

—Tx=-35;
X=3
Bionoeiode. 5;

N 14-x=0,54-2x)+12;
d—x=2—x+ 12
—x+x=2+12-14;
Ox=0.

Bionosgids. bynp-sixe umcno;

1) 0,8 —(1,5x—2) =-0,8 +4,5x;

0,8 — 1,5% +2 =~0,8 + 4,5x;
—1,5x—-4,5x=-0,8-0,8-2;
—6x =-3,6;

x = 0.6.

Bionosios. 0,6;

1(7 S5 a1
3 ?(gy”)'z(@“y“a)- 2’

byoi-b-d-l
3y+24-4y-32=2;
—y=2-24+32;

y=-10.

Bionosios. —10;

1) 0,9x — 0,6(x — 3) = 2(0,2x — 1,3);

0,9x—0,6x+ 1,8=0,4x—2,6;
0,3x+ 1,8 =04x—-2,6;
03x—0,4x=-2,6-1,8;
—0,1x=-4.4;

x =44,

Bionosgiows. 44;

5

Liba

Bidnosios. —% 3

4)-2(3 —4x)+ 5(2 — 1,6x) = 4;
—6+8x+10-8x=4;
Ox=4+6-10;

Ox=0.
Bionosids. Bynb-sike 4ueno.

2) (18 = 3x) — (4 + 2x) = 10;

18 -3x—4-2x=10;
~5x=10-18 +4;
—5x =-4;

x=0,8.

Bionoeios. 0,8;

4) 4x —3(20 —x) = 10x - 3(11 + x);
Ax =60+ 3x=10x—33 —3x;
4x +3x — 10x + 3x=-33 + 60;
0x=27.

Bidnogiow. KopeHip nemac.

2) 0,6x—5(0,3x+ 0,2) = 0,5(x - 1) - 0,8;
0,6x—15x—-1=0,5x—0,5-0,8;
0,6x—1,5x—0,5x=-0,5-0,8 +1;
—1,4x=-0,3;

3

X= —

14"
Bionosids, =-;
" 147
4) 5 (54-8,1))=0,03+ 1 (68-3.4y);

1-1,57=0,03 + 1,6 -0,8y;

-1,5p+08y=0,03+1,6-1;

0,7y = 0,63;

y=-0.9.

Bidnogiods. —0,9.
2)-043x—1)+8(0,8x—-0,3) =5—(3,8x + 4);

—12x+04+64x—-2,4=5-38x—-4;

52x—2=1-3,8x;

52x+38x=1+2;

Ox=3;

x=

W=

Bionoeids. % 2



